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TDC-ADC Time vs. Pulse Amp Plane 2y Side pos Paddle 5
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TDC-ADC Time vs. Pulse Amp Plane 2y Side pos Paddle 6
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TDC-ADC Time vs. Pulse Amp Plane 2y Side pos Paddle 7
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TDC-ADC Time vs. Pulse Amp Plane 2y Side pos Paddle 8
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TDC-ADC Time vs. Pulse Amp Plane 2y Side pos Paddle 9
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TDC-ADC Time vs. Pulse Amp Plane 2y Side pos Paddle 10

Entries = 748252
 0.01± = 21.18 

1
c

 0.01± = 0.53 
2

c
/NDF = 981.922χ



0 100 200 300 400 500 600 700 800 900 1000
 Pulse Amplitude (mV) / 1 mV

0

5

10

15

20

25

30

35

40
  T

D
C

-A
D

C
 T

im
e 

(n
s)

 / 
10

0 
p

s

1

10

210

3
10

TDC-ADC Time vs. Pulse Amp Plane 2y Side neg Paddle 1
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TDC-ADC Time vs. Pulse Amp Plane 2y Side neg Paddle 3

Entries = 441721
 0.01± = 22.63 

1
c

 0.01± = 0.67 
2

c
/NDF = 354.602χ

0 100 200 300 400 500 600 700 800 900 1000
 Pulse Amplitude (mV) / 1 mV

0

5

10

15

20

25

30

35

40

  T
D

C
-A

D
C

 T
im

e 
(n

s)
 / 

10
0 

p
s

1

10

210

3
10

TDC-ADC Time vs. Pulse Amp Plane 2y Side neg Paddle 4

Entries = 449475
 0.01± = 22.33 

1
c

 0.01± = 0.71 
2

c
/NDF = 363.462χ

0 100 200 300 400 500 600 700 800 900 1000
 Pulse Amplitude (mV) / 1 mV

0

5

10

15

20

25

30

35

40

  T
D

C
-A

D
C

 T
im

e 
(n

s)
 / 

10
0 

p
s

1

10

210

3
10

TDC-ADC Time vs. Pulse Amp Plane 2y Side neg Paddle 5

Entries = 458807
 0.01± = 21.64 

1
c

 0.01± = 0.66 
2

c
/NDF = 378.772χ

0 100 200 300 400 500 600 700 800 900 1000
 Pulse Amplitude (mV) / 1 mV

0

5

10

15

20

25

30

35

40

  T
D

C
-A

D
C

 T
im

e 
(n

s)
 / 

10
0 

p
s

1

10

210

3
10

TDC-ADC Time vs. Pulse Amp Plane 2y Side neg Paddle 6

Entries = 512725
 0.01± = 21.75 

1
c

 0.00± = 0.73 
2

c
/NDF = 333.412χ

0 100 200 300 400 500 600 700 800 900 1000
 Pulse Amplitude (mV) / 1 mV

0

5

10

15

20

25

30

35

40

  T
D

C
-A

D
C

 T
im

e 
(n

s)
 / 

10
0 

p
s

1

10

210

3
10

TDC-ADC Time vs. Pulse Amp Plane 2y Side neg Paddle 7

Entries = 519198
 0.01± = 22.44 

1
c

 0.00± = 0.74 
2

c
/NDF = 338.372χ

0 100 200 300 400 500 600 700 800 900 1000
 Pulse Amplitude (mV) / 1 mV

0

5

10

15

20

25

30

35

40

  T
D

C
-A

D
C

 T
im

e 
(n

s)
 / 

10
0 

p
s

1

10

210

3
10
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